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(r-MDW Ha) vs (r-i)
bins = (100, 100)
||

1.5 = -
[ | = [ |
- - | |
1.0 4 ™
|
- - - u
(. -
= - AT
- _-
. ?. a -
|
[ |
0o ™ - - =
[ |
-
=
—0.5 - "
-
[ |
- -
_1.0_
[ |
_1.5 T T - T T T T T
—0.50 —0.25 0.00 0.25 0.50 0.75 1.00 1.25 1.50

i

101

10°

Number of point sources



r-MDW Ha

Field 2361
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

-
—-1.0 4
-
-
-
_1.5 T T T T T T T
—0.50 —-0.25 0.00 0.25 0.50 0.75 1.00 1.25

i

1.50

102

101

10°

Number of point sources



r-MDW Ha

Field 2362
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5
-
-
]
-
—-1.0 4
] ]
]
]
_1.5 T -I- T T T T T
—0.50 —-0.25 0.00 0.25 0.50 0.75 1.00 1.25 1.50

i

102

10!

10°

Number of point sources



r-MDW Ha

Field 2363
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

—1.0 4

-1.5
—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

102

101

10°

Number of point sources



r-MDW Ha

Field 2364
(r-MDW Ha) vs (r-i)
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Field 2470
(r-MDW Ha) vs (r-i)
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Field 2472
(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

-
1.0 4
- |
0.5 1
-
0.0 1
-
-
|
—0.5 1 -
-
—-1.0 4 -
_1.5 T T T T T T T
—0.50 —-0.25 0.00 0.25 0.50 0.75 1.00 1.25 1.50

i

101

10°

Number of point sources



r-MDW Ha

Field 2478
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5 —]

—-1.0 4

_1.5 T T T T T
—0.50 —-0.25 0.00 0.25 0.50 0.75

i

T
1.00

T
1.25

1.50

102

101

10°

Number of point sources



r-MDW Ha

Field 2479
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

-1.5
—0.50

T
0.00

T T T T T
0.25 0.50 0.75 1.00 1.25 1.50
i

102

101

10°

Number of point sources



r-MDW Ha

Field 2480
(r-MDW Ha) vs (r-i)
bins = (100, 100)

_1.5 T T T T T T T
—0.50 —-0.25 0.00 0.25 0.50 0.75 1.00 1.25 1.50

i

102

101

10°

Number of point sources



r-MDW Ha

Field 2481
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

—-1.0 4

-1.5
—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

102

10!

10°

Number of point sources



r-MDW Ha

Field 2572

(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

1.0 4

0.5 1

0.0 1

—0.5 1

—1.0 4

-1.5
—0.50

T
0.25

T
0.50
i

T
0.75

T
1.00

T
1.25

1.50

101

10°

Number of point sources



r-MDW Ha

Field 2573
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

1.0 4

0.5 1

0.0-1 N

—0.5 1

—-1.0 4

-

-1.5
—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

101

10°

Number of point sources



r-MDW Ha

Field 2574
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

1.0 4

0.5 1

0.0 1

—0.5 1

—1.0 4

-1.5
—0.50

T
—-0.25

T T T T
0.00 0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

101

10°

Number of point sources



r-MDW Ha

Field 2575
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

1.0 4

0.5 1

0.0 1

—0.5 1

—-1.0 4

-1.5
—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

101

10°

Number of point sources



r-MDW Ha

Field 2576
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

—-1.0 4

-1.5
—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

101

10°

Number of point sources



r-MDW Ha

Field 2577
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2581
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2584
(r-MDW Ha) vs (r-i)
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Field 2586
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2587
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2588
(r-MDW Ha) vs (r-i)
bins = (100, 100)

—-1.0 4

-1.5
—0.50

T
—-0.25

T
0.00

T
0.25

T
0.50
i

T
0.75

T
1.00

T
1.25

1.50

102

101

10°

Number of point sources



r-MDW Ha

Field 2680
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2681
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2683
(r-MDW Ha) vs (r-i)
bins = (100, 100)

15 —
| _-
1.0 4 _
- - - - =
0.5 1 - - - - =
- - == - -
- - == Tm_
00 = @ =m =
- . == -
—0.5 - -
~1.0-
_1.5 T T T T T T T
2050  -0.25 0.00 0.25 0.50 0.75 1.00 1.25

i

1.50

101

10°

Number of point sources



r-MDW Ha

Field 2684
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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(r-MDW Ha) vs (r-i)
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Field 2688
(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5
1.0
-
0.5 A
0.0 4™
-
—0.5 -
-
-1.0 4
-1.5

—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

101

10°

Number of point sources



r-MDW Ha

1.5

Field 2689
(r-MDW Ha) vs (r-i)
bins = (100, 100)

—1.0 4

-1.5

—0.50

T
—-0.25

T
0.00

T T T
0.25 0.50 0.75
i

T
1.00

T
1.25

1.50

101,

10°

Number of point sources



r-MDW Ha

Field 2690

(r-MDW Ha) vs (r-i)
bins = (100, 100)
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(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

—-1.0 4

-1.5
—0.50

T
—-0.25

T
0.00

T
0.25

T
0.50
i

T
0.75

T
1.00

T
1.25

1.50

102

101

10°

Number of point sources



r-MDW Ha

Field 2692
(r-MDW Ha) vs (r-i)
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Field 2693
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2694
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2787
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2788
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2790
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
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Field 2793

(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
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Field 2796

(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
bins = (100, 100)

1.5

—-1.0 4

-1.5
—0.50

T
0.25

T
0.50
i

T
0.75

T
1.00

T
1.25

1.50

102

101

10°

Number of point sources



r-MDW Ha

Field 2892
(r-MDW Ha) vs (r-i)
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Field 2893
(r-MDW Ha) vs (r-i)
bins = (100, 100)
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Field 2894
(r-MDW Ha) vs (r-i)
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(r-MDW Ha) vs (r-i)
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Field 2897
(r-MDW Ha) vs (r-i)
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Field 2994
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